(I)yHKI_[I/II/I KOMILJIEKCHOI'O I1epeMeHHOI'O

IV. g dyskmun f(z) = cos z HaiiTu:
a) JeHCTBUTEbHYIO YacTh,
6) MHUMYIO 9acTh,
B) MOJLYJIb,
) {z : f(2) neitcrBuresbhoe},
1) {z: f(z) aucro mummoe},
{z:

e) {z: f(z) =0}

OTBeTBbI U peIeHuns:

a) Recosz = cosx - chy,

6) Imcosz = —sinx - shy,

B) | cos z| = v/ch?y — sin® z,

r) cos z geficrBurenibHoe <= Imcosz =0 <= (sinz = 0) V (shy = 0), crenona-
TEJILHO,
{z: f(2) neticreurenvhoe} = {z =z +iy:x=7mn (n€Z), ye R}U{z:z € R, y =0},

1) {z: f(z) aucro munmoe} = {z =z +iy: v =7/2+7mn (n € Z), y € R},

e) {z: f(z) =0} ={z: f(2) neiicrurenbuoe} N {z : f(z) unucro Muumoe} =

={z=zx+4+iy:c=7/24+mn (n €Z), y=0}.



